[ 234921 Decimals J

Le,a,erLg Ol%/o.cttvo.:
We are Lea,mmg to- add decimals with a dﬁerent
numhber of decimal pLa,ces.

GLL be su,c:ce,ssful f \

| can line up the decimal point when using o
wntte,n c:o'LLLmrL method..
o/ can read and write different decimals up to 3d. p
e/ can wse estimation and reasoning to check my
answer is sensible.







F |@shback U Year5 Week2 Day5

Work out 52 — 34

Add 0503 to 0.305

Round 5107 to the nearest tenth

Work out 57 X 24




F l9shpack Y Year5 Week2 Day5

Work out 52 - 34 18
Add 0.503 to 0.305 0808
Round 5107 to the nearest tenth 51

Work out 57 X 24
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045+ 055+012=112




How- can you make this calculation easier to cmplzte?

4 4 4 42
+7 .044 +1.6




When your numbers have a different number of decimal pLa,cre,s
line up the decimal pcn‘nts to thp you.

Ones 1 Tenths Hundredths

® 8O 1.3
8—°§8 QO +3 52




~
[ think 1.5 is a sensible Q,sttm&forl.f)’ i+ Lo,
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Eva

Do you agree with Eva? Expla,m your reasoning.



What method would you use to- solve this prohbem?

What would he a sensible estimate for this answer?

Whitney is cycling in a race.
She has cycled 3.145 km so far and has 4.1 km left to go. What is
the total distance of the race?



Addlr\g decimals with a different

‘ r u e o r F a ‘ S e ? number of decimal places

243 + 243

[ T e e rhaholt s S bAko e ot fer i

columns.







Eva is trying to find the answer to

Can you spot and explain her error?

Work out the correct answer.

Place the calculations in the correct
column in the table.

9.99 + 0.001] | 9.99 + 0.01

Some calculations might need to go in
more than one place.

Add 2 more calculations to each column.




